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Consider the following statements :

Statement-I :
The atmosphere is heated more by incoming
solar radiation than by terrestrial radiation.

Statement-II :

Carbon dioxide and other greenhouse gases in
the atmosphere are good absorbers of long
wave radiation.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-Il does not
explain Statement-I

(¢) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

Statement-I :
Thickness of the troposphere at the equat
much greater as compared to poles

Statement-II :
At the equator, heat is tr ofted to great
heights by strong convectiehal c

Which one of the fol is correct in

respect of the ago nts ?

(a) Both St -I and Statement-II are
correct §an Statement-II  explains
St

(b) Both¥Statement-I and Statement-II are
correcd, but Statement-II does not
explain Statement-I

(c) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

(3-A)

Consider the following :

1z Pyroclastic debris

2. Ash and dust

3. Nitrogen compounds
4. Sulphur compounds

How many of the above are products of
volcanic eruptions ?

(a) Onlyone

(b) Only two
(¢)  Only three
(d) All four

%)

Which of the wing is/are correct

inference/i €

from isothermal maps in

the mon ary ?

1 Thi erms deviate to the north over
cean and to the south over the

continent.

make the North Atlantic Ocean colder
and the isotherms bend towards the
north.

% . The presence of cold ocean currents,
Consider the following statements : : Gulf Stream and North Atlantic Drift

Select the answer using the code given below :
(a) 1lonly

(b) 2only

(¢) Both1and?2

(d) Neither 1 nor 2

Which of the following countries are well
known as the two largest cocoa producers in
the world ?

(a) Algeria and Morocco
(b) Botswana and Namibia
(c) Cote d’Ivoire and Ghana

(d) Madagascar and Mozambique
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With reference to the Himalayan rivers
joining the Ganga downstream of Prayagraj
from West to East, which one of the following
sequences is correct ?

(a) Ghaghara — Gomati — Gandak — Kosi

(b) Gomati— Ghaghara — Gandak — Kosi

(¢) Ghaghara — Gomati — Kosi — Gandak

(d) Gomati— Ghaghara — Kosi — Gandak

Consider the following statements :

Statement-I :

Rainfall is one of the reasons for weathering
of rocks.

Statement-1I :
Rain water contains carbon dioxide in
solution.

Statement-III :
Rain water contains atmospheric oxygen.
Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-II and Statement-III
are correct and both of them explain
Statement-I

(b) Both Statement-II and Statement-
are correct, but only one of
explains Statement-I

(¢) Only one of the Statements Ilgéad III is
correct and that explains State

(d) Neither Statement-II
is correct

tement-I111

2. German

Consider the following @e :
1.  Finland Q

border with the North Sea ?
(a) Only one

(b) Only two

(¢) Only three

(d) All four
KSPC-P-GSPO

Consider the following information :

Waterfall Region |River
1. |Dhuandhar |Malwa |[Narmada
2. |Hundru Chota Subarnarekha
Nagpur
3. | Gersoppa Western |Netravati
Ghats
In how many of the above roysais given

information correctly matc

(a) Only one

(b)  Only two éa
(c) All thre

(d)

Cgonsider the following information :

Region |Name of the |Type of
mountain mountain
range

1. |Central |Vosges Fold mountain

Asia

2. |Europe |Alps Block
mountain
3. | North Appalachians |Fold mountain
America
4. |South Andes Fold mountain
America

(5-A)

In how many of the above rows is the given
information correctly matched ?

(a) Only one
(b)  Only two
(¢) Only three
(d) All four
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11. Consider the following airports : 14. With reference to “Coriolis force”, which of the
; : 0
1. Donyi Polo Airport following statements is/are correct ?
% st Dot tiionn Aicport 1. It increases with increase in wind velocity.
v R S 2. It is maximum at the poles and is absent
3. ijjayawada International Airport ot thibeiibor:
In the recent past, which of the above have Select the answer using the code given below :
been constructed as Greenfield projects ?
(a) 1lonly
(a) 1and2only @) 200l
(b) 2and 3only (¢) Both1and2
(¢) 1and3only (d) Neither 1 nor 2
(d 1,2and3 : j
15. On June 21 everygye h'of the following
2 . ioh
12. With reference to “water vapour”, which of the T U b gl i
: § than 12 hour
following statements is/are correct ?
1. It is a gas, the amount of which 1. E
decreases with altitude. 9 ic gf Cancer
2.  Its percentage is maximum at the poles. 3. ¢ of Capricorn
Select the answer using the code given below : i b Civele
1 onl
") ol @lect the correct answer using the code given
ol below::
(¢0 Bothland2
(a) 1lonly
(d) Neither 1 nor 2
: (b) 2only
13. Consider the following descripti @ (0 3and4
1. Annual and daily ra() peratures @ 2and4
o ok ' 16. One of the following regions has the world’s
2. Precipitati oughout the year. largest tropical peatland, which holds about
8 ‘‘Precipit i three years worth of global carbon emissions
5 from fossil fuels; and the possible destruction
; : of which can exert detrimental effect on the
What is type of climate ? global climate. Which one of the following
(a) Equitorial climate denotes that region ?
(b) China type climate (@) . HEaTR
: i - (b) Congo Basin
(¢) Humid subtropical climate
(¢) Kikori Basin
(d) Marine West coast climate
(d) Rio de la Plata Basin
KSPC-P-GSPO (7-A)
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17. With reference to perfluoroalkyl and
polyfluoroalkyl substances (PFAS) that are
used in making many consumer products,
consider the following statements :

1. PFAS are found to be widespread in
drinking water, food and food packaging
materials. :

2. PFAS are not easily degraded in the
environment.

3. Persistent exposure to PFAS can lead to
bioaccumulation in animal bodies.

Which of the statements given above are

correct ?

(a) 1and2only

(b) 2and 3 only

(¢) 1and3only

d 1,2and3

18. Consider the following :

1. Carabid beetles @

2. Centipedes :

3. Flies K

4. Termites @

5. Wasps Q

Parasi Q&re found in how many of

the abo organisms ?

(a) Only®two

(b) Only three

(¢) Only four

(d) Allfive

KSPC-P-GSPO

20.

\8

(9-A)

Consider the following plants :
1. Groundnut

2. Horse-gram

3. Soybean

How many of the above belong to the pea
family ?

(a) Onlyone

(b) Only two
(¢) All three
(d) None

GQ)

Consider ng statements :

St % u

TheWhdian Flying Fox is placed under the

“ve ” category in the Wild Life
otection) Act, 1972.

Statement-11 :

The Indian Flying Fox feeds on the blood of
other animals.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are

correct and Statement-II explains

Statement-I
(b) Both Statement-I and Statement-II are

but Statement-II does
explain Statement-I

correct, not

(¢) Statement-I is correct, but Statement-II

is incorrect

(d) Statement-I is incorrect, but Statement-II

is correct
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21. The organisms “Cicada, Froghopper and Pond
skater” are :

(a) Birds

(b) Fish

(¢) Insects

(d) Reptiles

22. Consider the following statements :

Statement-I :

Many chewing gums found in the market are

considered a source of environmental

pollution.

Statement-II :

Many chewing gums contain plastic as gum

base.

Which one of the following is correct in

respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II explains
Statement-1

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not exp
Statement-I

(¢) Statement-I is correct, but StatemeN
incorrect

(d) Statement-I is incorrect, bu nt-11
is correct

28. Consider the following
4 tl found in its
Sonntry Wl.ral habitat

1. |Brazil ndri

2. |Indgpesidy, J |Elk

3. |Ma Bonobo

How ma of the pairs given above are

correctly matched ?

(a) Onlyone

(b) Only two

(¢) All three

(d) None

KSPC-P-GSPO

24. Consider the following statements regarding

World Toilet Organization :

1. It is one of the agencies of the United
Nations.

2 World Toilet Summit, World Toilet Day
and World Toilet College are the
initiatives of this to
inspire action to tackle the global
sanitation crisis.

organization,

3. The main focus of its fun grant
funds to the least d comntries
and developing co e achieve the
end of open defe@I

Which of the st iven above is/are

correct ? :

(a) 2onl @ :

(b) '

(c)

(d)

¥ Consider the following statements :
1. Lions do not have a particular breeding

season.

2.  Unlike most other big cats, cheetahs do

not roar.

3.  Unlike male lions, male leopards do not

proclaim their territory by scent

marking.

Which of the statements given above are

correct ?

(a) 1and2only
(b) 2and 3 only
(¢) 1and3only
(d 1,2and3

(11=A)
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26. Which one of the following is the correct

description of “100 Million Farmers” ?

(a) It is a platform for accelerating the
transition towards food and water
systems that are net-zero (carbon),
to

nature-positive and that aims

increase farmer resilience.

It is an international alliance and a
network of individuals and farming

(b)

organisations interested in supporting
and strengthening the development of
the organic animal husbandry.

(¢) It is a digital platform fully integrated
with service providers and built on
blockchain that lets buyers, sellers and
third parties trade fertilizers quickly

and securely.

(d) It is a platform with the mission of
encouraging the farmers to form Farmer
Product Organisations or Agribusiness
thus

access to global open markets to

Consortiums, facilitating e

their products.
27. Consider the following : %
a3 Battery storage &
2 Biomass genera%
3. Fuel cell ‘
4 Roofto hotovoltaic units
How the above are considered
“Distribited Energy Resources” ?
(a) Onlyone
(b) Only two
(¢) Only three
(d) All four
KSPC-P-GSPO (13

28. Which one of the following shows a unique
relationship with an insect that has coevolved
with it and that is the only insect that can

pollinate this tree ?

(a) Fig

(b) Mahua

(¢) Sandalwood
(d) Silk cotton

29. Consider the following

1.  Butterflies @
2. Fish

3 P

m f the above have poisonous

sp ong them ?

a) nly one

)  Only two
(c) All three
(d) None
30. Consider the following :
1. Cashew
?. Papaya
3.  Red sanders
How many of the above trees are actually ‘
native to India ?
(a) Only one
(b)  Only two
(c)  All three
(d) None
1K)
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(c) hadt 13T 3

(d 1,233

Frfafaa st w fmm Hifve .

HYI :
ggaaﬁmmﬁgamﬁ

Afeed § o4 & |
?\wﬁ i

FYFII :
I ql I gert §
7, ﬁtr%rﬁgaﬁ@r

srfirfsranati Y

_aﬁq-m

@) FEI gHI @@ & qen

-I1, -1 Y T LT &

(b) FI M w1 A wd §, g
HYH-1, -1 3 & 77T a1 &

() -1 5 2, g wua-11 wd 7 2
(d) Y1 TE E B, g FoH-II T R

33. frafafga # @ =+, ama ot § dwafg

BIAT & S T Amfeehistt # ey e 2
IR T JETE ! ST R 2

(a) HTEfewh 3T
(b) {TEZH 3IMTFETES
(c) FTSINM STEATHATES

35.

(14-A)

% TaTH W TR W@ ()

%ﬁﬁﬁﬁﬁﬂﬁﬁfﬁﬁﬁi@rﬁmm
ST Fehal B 2

(a) hadA Th
(b) ad Q
(c) @ =
@ g T

Frafafea fammt w fa=m it .

1. Tha

2. MiG-29

3. d9¥ MK-1

SwgF # @ fpaw el gt & we fame
I & 2

(a) %ad TH

(b) e g

(c) @t &

(d) i T



31.

32.

KSPC-P-GSPO

With reference to radioisotope thermoelectric
generators (RTGs), consider the following
statements :

i RTGs are miniature fission reactors.

2.  RTGs are used for powering the onboard
systems of spacecrafts.

3. RTGs can use Plutonium-238, which is
a by-product of weapons development.

Which of the statements given above are

correct ?

(a) 1and2only
(b) 2and 3only
(¢) 1and3only
(d 1,2and3

Consider the following statements :

Statement-I :
Giant stars live much longer than dwarf st;

Statement-II :
Compared to dwarf stars, giant stars hav

greater rate of nuclear reactions.

i caect in

(a) Both Statement-I atement-II are
correct ent-Il  explains

Statemetg
(b) Bo t-I and Statement-II are

t Statement-II does
explaip Statement-I

respect of the above staten

corr not

(¢) Statement-I is correct, but Statement-II

is incorrect

(d) Statement-I is incorrect, but Statement-II

is correct

33.

34.

35.

(15-A)

Which one of the following is synthesised in
human body that dilates blood vessels and
increases blood flow ?

(a) Nitric oxide
(b) Nitrous oxide
(¢) Nitrogen dioxide

(d) Nitrogen pentoxide

Consider the following activi

1 Identification of t
at airports or

on passengers

2. Monitori pitation
3. i lra igration of animals
In W’ of the above activities can the
rad e used ?
nly one

Only two
(¢)  All three
(d) None

Consider the following aircraft :
1. Rafael

2. MiG-29

3. Tejas MK-1

How many of the above are considered fifth
generation fighter aircraft ?

(a) Only one
(b) Only two
(c) All three
(d) None



36.

37.

38.

39.

40.
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fafafes & @ ol seeoe &1 W= g
22

1. UM o fefa siwfy fechiah

2. 9 SR Tt

3. ofrenfis Vgl 1 fomm

i fu T e w1 T W wd I g

(a) ohad 1

(b) Had 13K 2

(¢) e 23R 3

(d 1,2 3MW3

frefafed 3 & $-1 grgoH gr =i w@
¥ sfdesh arel & Freem aren fafas Tei
IS B ?

(a) TIFGA WA (TeraTSS)

(b) ETESITm

(c) ATeeleH

(d) Sd-am™q

B & ¥, “T-RR gEeEt’ weg i area
# 3R ggfua &9 8 fieferfaa & @ frass 4
o aut I TE R 2

(a) HEER Wat it fi=r

(b) I () BEA! HI IeIH 8

(c) drafafy et Wero
(d) 99 T=IT YUt

“Drsi IrfREed” Y ==t
T 2 2
(a) WA
(b)
(c) dr
(d)

(a) WU FNIRK

(b) Tocsft gg1 wR
(¢) W3l SR
(d) I (W) THR

41.

(16-A)

forelt srefoaen # $o1 yomm @ #) w9 @
gl famam wmar @ 2

(a) T 98 U SHEEr § ufd 1000 sFfeat 9T
I N 9 S=1 e

b) ot & © sHen ¥ w oy
Sited-Tet H I8 ST §=51 h 5T

(c)

Y (Arges-afin
59 Sffed s=i

(d)

FHyAt | famm Fifse .

aa H, dfen fadfa Sufat arda
e % it wa-Ff wriem gl &
T AW 33T FHA B |

2. vra #, fosfi Teur o @@
Sfeyfert (G-Secs) % U &9 Tahd B |

3. WRd H, I AR (Wi Tae=is) =l %
o o =i W= (fen wew)
Y&H L Fhd § |

ITYE FHeE H ¥ PH-AT/HHY T 2/ 2

(a) Had 13K 2

(b) Had 3

(¢) 1,2 3R 3

(d) e 23 3



36. In which of the following are hydrogels used ?
1.  Controlled drug delivery in patients
2.  Mobile air-conditioning systems
3.  Preparation of industrial lubricants
Select the correct answer using the code given
below :
(a) 1lonly
(b) 1and2only
(¢) 2and3only
(d 1,2and3

37. Which one of the following is the exhaust pipe
emission from Fuel Cell Electric Vehicles,
powered by hydrogen ? :
(a) Hydrogen peroxide
(b) Hydronium
(¢) Oxygen
(d) Water vapour

38. Recently, the term  “pumped-storage
hydropower” is actually and appropriately
discussed in the context of which one of the

. following ?

(a) Irrigation of terraced crop fields
(b)  Lift irrigation of cereal crops \
(¢) Long duration energy storag
(d) Rainwater harvesting sys

39. “Membrane Bioreactors” discussed
in the context of :
(a) Assisted repro chnologies
(b) Drugde chnologies
(¢) Vaccingroduction technologies
(d) ste@treatment technologies

40. With rence to the Indian economy,
“Collate Borrowing and Lending
Obligations” are the instruments of :
(a) Bond market
(b) Forex market
(¢) Money market
(d) Stock market

KSPC-P-GSPO

41. The total fertility rate in an economy is

defined as :

(a) the number of children born per 1000

people in the population in a year.

(b) the number of children born to a couple

in their lifetime in a given population.
(¢) the birth rate minus death ra

/| hs a
end of her

(d)

the average numbe
woman would h t
child-beari

O

ollowing statements :

a

42. ide

Non-Banking Financial

Companies can access the Liquidity

SIn India,

Adjustment Facility window of the

Reserve Bank of India.

2. In India, Foreign Institutional Investors
can hold the Government Securities
(G-Secs).

3. In India, Stock Exchanges can offer

separate trading platforms for debts.

Which of the statements given above is/are

correct ?

(a) 1and2only
(b) 3only

(¢) 1,2and3
(d) 2and3only

(17-A)



wiE H, Frafafes # & 97 sioke svel sk
e sfayfoat & samr w9 § 2

1. ffmn safaat

2. A fafy

3. Wz fEwe

et fau T e 1 T W w3 gh
(a) aet 137 2

(b). Had 23R 3

() aw@ 13k 3

43.

@ 1,2 33

Frafafea w foem Hife \
1. m%’a-iégﬁﬁ(ETF)

¥

foxfta forga (3egiie)

2. W 91§
3.  Hgl i Aga-
g 4

(a)

(b) heet 2 3T 3
© 1,233
(d) I 130N 3
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(18

45. WA Srdegeven % ¥l F wed #,
Frafafed 3at w = $ifv

SATfF Tt
1. |F 3G HT HSRUT
2. |38

3. w61 @

4. ST T

3"“”@
(a) had

(c)

frefefea amfiel w foem $if .
1. Y afise

2. WFHI & gH

3. IAURIE-I M FauH

4. w3 i smufire

39 § ¥ foruept swi Hamofy fawee dum
% I & fou Frewis F w9 F fear @
Gohal & ?

(a) Had 13 2
(b) Hae 3 3R 4
1,2,3 3 4
*9d 1,3 31 4

46.

(c)
(d)

A)



43. In India, which of the following can trade in
Corporate Bonds and Government Securities ?
3 1 Insurance Companies
2.  Pension Funds
3.  Retail Investors
Select the correct answer using the code given
below :
(a) 1and2only
(b) 2and 3only
(¢) 1and3only
(d 1,2and3

44, Consider the following : k
1.  Exchange-Traded Funds (ETF) \
2.  Motor vehicles . @
3. Currency swap %
Wlﬁch of the al@ considered financial
instruments 0
&) . % ‘
(b) 2 and 3only
(¢) 1,2and3
(d) 1and3only

KSPC-P-GSPO

45.

(19-A)

With reference to the sectors of the Indian
economy, consider the following paiis :

Economic activity Sector

1. | Storage of agricultural |Secondary
produce

2. |Dairy farm Primary

3. | Mineral exploration Terti

4. | Weaving cloth S

How many of the pair bo¥e are

correctly matched ?

(a) Onlyone 6@
(b) Only tw,

(¢) On @

W,

d

e,

Consider the following materials :
1.  Agricultural residues

2. Corn grain -

3. Wastewater treatment sludge
4.  Wood mill waste

Which of the above can be used as feedstock
for producing Sustainable Aviation Fuel ?

(a) 1and2only
(b) 3and4only
(¢ 1,2,3and 4

(d 1,3 and4only



47. T seferewen # ofifew §oft F wed #,

frefefaa gt w fmm Hifvm
g gt
1. |fFEm #1 & HrR it
2. |[FFR feor gt
3. | g1 A femam | feeR i
T A
4. |UgE Friefe goft
39gad i 7 ¥ fore wd gafera # 2
(a) I TH
(b) Had 3
(c) Had dH
(d) @+t =R

ﬁmﬁﬁaaﬁﬁﬁmmwmi&

“3D smwrft (ager) gfEm 3ITREA
ek, @ W et TH 1Y
Ty fHar o El (Fdr)
&g W Hufa T 1 YA H Fehdl
W fore waifies sugw ®v @
O
wATfeAfeE
(b) Rt

(c) WG
d) Tgore Afey
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48.

(a)

(20—

49. fagsht St & @ TR F@ T g fod
9% g ofmifm Femfed % s 4,

frafafaa weat w faar Hifvw .

1. YRd # QO @iffed a9 98 St
(feb afetrefe) & fore w18 =aw ot
&I ATFIvIHAT TE 2 |

2. WRd # qof Tarfies HEAE  SAehi
(Sfb wfersfat) S eEit %
FHIAFT 50% g =feT |

39 Hel A B8 TE /2 2

(a) %A :

(b)

(ch 1 2 gl

W#a‘t 1,78 2

[ 50. wra # ffia amfyes e (CSR) fmt

% TeY #, frafafigd sl w f=m Hif .

1. CSR frm fRfifie w0 § f5 99 sod
HET THh FHAME B T TEIH T
= %I CSR HRAHAN % &9 ¥ & AT
ST |

2. CSR 7@m CSR #ri®am™l w 2 O
I =93 1 fafafdse 76 @+ € |

39 HA A § BH-AT/HHE TE 2/7 2
%ad 1

HId 2

137 2 g

Td a2

(a)
(b)
(©)
(d)

A)



47. With reference to physical capital in Indian

economy, consider the following pairs :

Items Category

Farmer’s plough Working capital

Computer Fixed capital

Yarn used by the Fixed capital

weaver

Petrol Working capital

How many of the above pairs are correctly

matched ?

(a) Onlyone

(b) Only two

(¢) Only three

(d) All four

N

48. Which one of the following w ases 1is

most appropriately us enote “an
interoperable networ al worlds
that can be acces ultaneously by

millions of us can exert property

rights over v@ ms” ?

(a B analytics

(b) Cryptography

(c)

Metaverse

(d) Virtual matrix

KSPC-P-GSPO

49. With reference to the rule/rules imposed by

the Reserve Bank of India while treating

foreign banks, consider the following
statements :
1. There is no minimum capital

requirement for wholly owned banking

subsidiaries in India.

sidiaries
board

For wholly owned banking s
in India, at least 50%

With to Social

Responsibility (CSR) rules in India, consider

reference Corporate

the following statements :

) CSR rules specify that expenditures
that benefit the company directly or its
employees will not be considered as CSR
activities.

2. CSR rules do not specify minimum

spending on CSR activities.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1and?2
(d) Neither 1 nor 2

(21-A)



Frafefga s w famm Hifs

FYF :
A G TS IR (USA) I 91 | %
T B, A US 5 sl % umes wyram e
FA % I 19 gral w1 s TE e and |

51.

FYLII : :

USA TR 1 =R &E gd () wREary
g wHida TE R, i Faar Twr F fvam
T gufda 2 |

IRF wOE % ey A, frafafed § @
991 T 2 2

(a) HIA-I MM FHHI I & F o
HYH-1, -1 1 I FHaT 2

FUAI AR FEID HI wE ¥, Ry
HYA-11, HYA-1 3l AT 7T T &
F-1 T& R, Topg Hom-11 el 7€ 2
FYH-1 HEl 721 2, Fohg hoA-11 98 B

(b)

(c)
(d)

frafafaa st w fomm Hift

P :
TR IUR 9 IUTGEIS % qeA
Tﬁ(%ssra)mﬁ%nwm%
FYII :

Mfe HT T
#, fehg w1 ) TE & Tl |

T v o, Prefefed § @

HH, 2 7
(a) AN FHFII T TE & qe
-I1, YA-1 Y SITEaT LT &

(b) HoI 3R FAI A R §, fg
HYA-11, HYA-1 1 AT 75T T 2

H9A-1 el 2, Fohg HoA-11 T 7 &
%1 Wal a1 8, fehg M-I Wt 2
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52.

ffyr & gt

(c)
(d)

(22 -

53. Tefee wwu & day § ffefes s w
ﬁﬁmﬁﬁm:
1. I8 Wi fiord S (RBI) gry ot mifees
Hifd % e S A T afew (W)
AT R |

2. I8 RBI % goH-99 (3 o) W a1 &
®H fomE g g

@ 1,2 IR 4

54.

I AR % "o A, Maw gg w am:
frfafea & ¥ fo5 gt & s smar on 2

L AEgh

2. ey

3. qUmd

1 o T e F1 E W Ed IR g

Fad 1

Had 2 3N 3

1,2 3R 3

394 4 | FE ot T §g % ITm T
K

(a)
(b)
(c)
(d)

A)



51. Consider the following statements :

Statement-I :

If the United States of America (USA) were to
. default on its debt, holders of US Treasury

Bonds will not be able to exercise their claims

to receive payment.

Statement-I1 :
The USA Government debt is not backed by
any hard assets, but only by the faith of the
Government.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-I

Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I

Statement-I is correct, but Statement-II is
incorrect

(b)

(c)

(d)

Statement-I is incorrect, but Statement-1I
is correct

52. Consider the following statements :

Statement-1
Syndicated lending spreads the

ri
borrower default across multiple lendeIA

Statement-I1I :
The syndicated loan ﬁxed
amount/lump sum of fun nnot be a

credit line.

Which one of g is correct in
respect of the a ents ?
(a) Both St I and Statement-II are

Statement-II explains

Botht Statement-I and Statement-II are
corre but Statement-II does not
explam Statement-I

(b)

(c)

Statement-I is correct, but Statement-II
is incorrect

(d)

Statement-I is incorrect, but Statement-II
is correct

KSPC-P-GSPO

53. Consider the following statements in respect
of the digital rupee :
1t It is a sovereign currency issued by the
Reserve Bank of India (RBI) in
alignment with its monetary policy.
2. It appears as a liability on the RBI’s
balance sheet.
3 It is insured against inflation Ry its very
design.
4. It is freely co ainst
commercial bank mo cash.
Which of the s s§given above are
correct ?
(a) landtﬁs?}
(b) 1land
(c) only
(d) ,2and 4
54. With reference to ancient India, Gautama

Buddha was generally known by which of the
following epithets ?

8 Nayaputta

2.  Shakyamuni

3. Tathagata

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

1 only
2 and 3 only
1,2 and 3

None of the above are epithets of
Gautama Buddha

(23-A)



ﬁgﬁ“ 7T faarer
1 |SghqTe  |0few =R sgwme
RIESS
2. |l NS | ATH-9TSTOT €A
3. |wTg A HETITIO T
4. |wifcgen |3y e |Setha TH1 A

IR # @ A ded § @ T g @@
ghfea 8 2

(a) 13 2
(b) 23R 3
() 33 4
(d 134

56.

(a)
(b)
(c) HEWE WM& III

@) Ig® 3Mfedt wR
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57. WHalicE T TN WM % HeW #,
Frafafad ol w e Hife .

1. % §URY % WFqATel seeed % a7,
fharl =1 wo@ @@ N W gl
et h fRfa § Toe yram @ e
Qo |

2. WA W §eeE * , afe Sier
e fafyr wan i T
T P HH o Far 39 3uh

_(b) N 2
?ﬁ@maﬁ

@ @ 1,982

58. fr=fafaa ot w fomm Aift .
1. SufAwei § g Hifq-spe (Heer) 78 & |
2. IUMWEl i =T TUOR & off ve € off |
SUY HIA H § HH-AT/BH-H TE B/E 2
(a) ad 1
(b) had 2
(0 13 23

@ T L8 2

(24-A)



55. Consider the following information : 57.
Archaeological State Description
Site
1.|Chandraketugarh | Odisha Trading
Port town
2.|Inamgaon Maharashtra| Chalcolithic|
site
3.|Mangadu Kerala Megalithic
site
4.|Salihundam Andhra Rock-cut
Pradesh cave
shrines
In which of the above rows is the given
information correctly matched ?
(a) 1land2
(b) 2and3
(¢ 3and4 \
(d land4 .
D |«

56. Who of the following

gave permissio% rtuguese to build a
fort at Bhatk() :

(a)

varaya
(b)

Narasimha Saluva

(c) Muhamma_d Shah IIT

(d) Yusuf Adil Shah

KSPC-P-GSPO

medieval India

(25-A)

With reference to revenue collection by

Cornwallis, consider the following

statements :

L Under the Ryotwari Settlement of
revenue collection, the peasants were
exempted from revenue payment in case

of bad harvests or natural calamities.

2 Under the Permanent Settlement in
ay his

Bengal, if the Zamindar fai
' e the

kbe

revenues to the state

correct ?

(a) 1afily
(b)

(c) oth 1 and 2

Neither 1 nor 2

Consider the following statements :
1.  There are no parables in Upanishads.

2.  Upanishads were composed earlier than
the Puranas.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(c) Bothland2
(d) Neither 1 nor 2



Frafefga sl w famm Hifse

59.

1. ¥R AT U0 IS o 9 § |

2. wEw IR A F Fafa @ smma ¥
ot 3o &1 erive I FRfEE @

T BT STEwTH R |
ST HeE & e/ T 2
(a) %ad 1
(b) Had 2
13 2 M1

(c)

@ T LTE2

60.

iR (UNESCO) i 37 dieshfes

(a)
(b)
(c)

(d)

KSPC-P-GSPO

(26-A)

61.

Bf. TSg TEIE % SRV GHTEH ¥ URe Gieum
vl % el gHfd B 9 2

(a) H. TSR

(b) €. &3, g

) A& FomET

(d) Si. wfvagrg famer

@ TFA1L,a8 2

Frafafgs # @ S TeFer ym K =
22

(a) FHIIAPR

(b) FIETIRE

(c) HETH-IT:

(d) Her¥

o, T wwda sg fig, R <
vaedl &t %k ofd # W amm
Frafafaa & @ forg w wsr % d@s 3 2

(a)  YFTIRTIHAT G

(b) TagigHan

(c) Hal&rEr faqg

d) lorarder



59. Consider the following statements :

1. India is a member of the International
Grains Council.

2. A country needs to be a member of the
International Grains Council for
exporting or importing rice and wheat.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

60. Which one of the followi the latest
inclusion in the Intangj tural Heritage

List of UNESC%

(a) Chhau %

h) D puja

(¢) Garba dance

(d) Kumbh mela

KSPC-P-GSPO

Who was the Provisional President of the
Constituent Assembly before Dr. Rajendra
Prasad took over ?

(a)
(b)
(c)
(d)

C. Rajagopalachari

Dr. B.R. Ambedkar

T.T. Krishnamachari

Dr. Sachchidananda Sinha

62. With reference to the Government§of India

Act, 1935, consider the following ents :

1 It provided for the es enf of an
All India Federation n the union
of the British ovinces and
Princely Stateg. :

2. Defence and ign Affairs were kept
under fitrol of the federal
legi

ich of, the¥statements given above is/are
co :

(a) §1 only
2 only
Both 1 and 2

(d) Neither 1 nor 2

63. Which one of the following is a work
attributed to playwright Bhasa ?

(a) Kavyalankara

(b) Natyashastra

(c)
(d)

Madhyama-vyayoga
Mahabhashya

Sanghabhuti, an Indian Buddhist monk, who
travelled to China at the end of the
fourth century AD, was the author of a
commentary on :

(a)
(b)
(c)
(d)

Prajnaparamita Sutra
Visuddhimagga
Sarvastivada Vinaya

Lalitavistara

(21 -K)



65. IISH! (UNESCO) g1 St fowar eriiee g=ht &

66.

KSPC-P-GSPO (a8

wite #it ¥ fefafea ol w® fEw
HIfT -

1. Snifdfehad

2. TH-HamE

R S S S

4. e feda weTefy Afet afer

39 § @ foraft wuferdi =t ad 2023 #§ Wiy
foram 2

(a) HaA TH
(b) T q
(c) Had d=
(d @i IR

HRd & Hi9UH % Iese 368 %
frafifas & 4 R g vﬁu\
399y T HIMGA T G 2

] {03

2. gfEds K

= feu Qﬁﬂmmﬁmgﬁq
(b%aﬂt3

(¢) ad 13K 3

@ 1,2 I3

Ih = I o, TEET
1T GIEHH FHEEAT o
(a) 1,2 34

68.

g7 a8 & gey § fafafas a1 o

ST TE 2

=8¢ 109 # o7 fades & day § a9y
Tk 1 Jeoi@ 2 |

v fadaes o= awn § queenfia 9 e
ST |

TS |1 A1 @ A9 i 3FHTeH ¢ wehelt
& 1 aRada % fore gema ¢ wehdt @ fohg
34 SR TE H Tkl |

TS 8wl g o fagws & gamu
G F AlE W g SRR
B |

H= fw e e @1y W s g

(a)
(b)
(c)
(d)

A)

Hae 137 2
Had 2 3 3
1,2 3R 3
1,3 3 4



65. Consider the following properties included
in the World Heritage List released by
UNESCO :

i Shantiniketan

2. Rani-ki-Vav

3. Sacred Ensembles of the Hoysalas

4. Mahabodhi Temple Complex at
Bodhgaya

How many of the above properties were

included in 2023 ?

(a) Only one

(b)  Only two

(¢)  Only three

(d) All four

66. As per Article 368 of the Constitution NO'
the Parliament may amend any provisio
the Constitution by way of : %

i Addition *
2.  Variation @K i
3. Repeal
Select the cdfrectgdMswer using the code given
belo
(a) 13nd2only
(b) 2 and 3 only
(¢) 1and3only
(d 1,2and3
KSPC-P-GSPO

(29-A)

67.

Consider the following countries :
1" oxitaly

2 Japan

3 Nigeria

4.  South Korea
5 South Africa

Which of the above countries are

mentioned in the media for
rates, or ageing popul

population ?

(a) 1,2and4 @

(b)

1,3and 5

ich of the following statements are correct
n respect of a Money Bill in the Parliament ?

1.  Article 109 mentions special procedure
in respect of Money Bills.

2. - A Money Bill shall not be introduced in
the Council of States.

3. The Rajya Sabha can either approve the
Bill or suggest changes but cannot reject
it.

4. Amendments to a Money Bill suggested
by the Rajya Sabha have to be accepted
by the Lok Sabha.

Select the answer using the code given below :
(a)
(b)
(c)
(d)

1 and 2 only
2 and 3 only
1,2 and 3
1,3and 4



69. T=fafan & 4 +FRm/ERY, wdy Twe

1 A Faredt § T I F Gl § wd
gufoa 272 2
gIdT | TgEr g
1 [fAfeR o e @i
2. AR 9T (TR ARH  |aTed Ui
LIS
3. |AR EaTEA e |dAfede HHret
4. |dfRede (e[S
Fd
i faw T e T T W wE I gh
(a) 134
(b) 13K 3
(© 2,334
d) %ad 3
70. QERR 9REg (NEC) 1 w91 qafs
arfufem, 1971 gro & € ot |
NEC fufem & dwied & s, 7
frafafas & @ fm-fom 1720, fepam
TR 2
1. HEEH TT Hl *
2 mwz@
3. YRd Tfafdse € Te=
4, YR i
= 1 AT T IH AT :
(a) 1,2 3R 3
(b) %ad 1,3 3N 4
(c) hadt 23T 4
d 1,2,3 34
KSPC-P-GSPO

(éo—A)

. Tewws 2023 9% wRa TR g fRay g

T Tfea fohe o § 2
(a) TH
(b) F
(¢) o=
@ =W

. "fum (719 dwe) sfufEm, 1992 % g

frfafea & & form wor = W % fog

éﬁunﬁm% ra T
. forgh
=N
P ERFS N G
Ql‘ﬂhs
) 1,23 4

(¢) 1,33N 4
@ 2,33R4

mp

W N =

73. T=fafea i w fa=m Hiftw .

a7 3G Fdr
1. | YR 59 99 1. WM Y9G g@sit
2. |grwiferee urdt . TSTeE
3. | B SHIHH |STShaT T
4. |Tas g IR Tz 2|
394 § ¥ fore vl gafera & 2
(a) had TH
(b) FadA A
(c) <had @
(d) ¥t =’



.How many Delimitation Commissions have

been constituted by the Government of India
till December 2023 ?

(a) One
(b) Two
(¢) Three
(d) Four
The Constitution (715* AmendmentRAct, 1992
amends the Eighth Sch the
Constitution to include whight of the fallowing
languages ?
1 Konkani ®
2.  Manipuri ‘ ;
3. Nepali
4.  Maithili :
answer using the code given

Select the co

Consider the following pairs :

Party Its Leader
1. |Bharatiya Jana |Dr. Shyama Prasad
Sangh Mukherjee

2. |Socialist Party C. Rajagopalachari

3. | Congress for Jagjivan Ram
Democracy
4. |Swatantra Party |Acharya Narendra
Dev

69. Which of the following is/are correctly | 71.
matched in terms of equivalent rank in the
three services of Indian Defence forces ?

Army Airforce Navy
1. |Brigadier |Air Commander
Commodore
2. |Major Air Vice Vice Admiral
General Marshal
3. | Major Squadron |Lieutenant 72.
Leader Commander
4. |Lieutenant | Group Captain
Colonel Captain
Select the correct answer using the code given
below :
(@) 1land4
(b) 1and3
(¢) 2,3and4
(d) 3only

70. The North Eastern Council (NEC)
established by the North Eastern Courféil A
1971. Subsequent to the amendment of 73.
Act in 2002, the Council compri hich of
the following members ?

1.  Governor of the Const tate
2. Chief Minister o stit@ent State
3. Three Memb ominated by the
President
4. The H ter of India
Select answer using the code given
below :
(a) 1,2 and 3 only
(b) 1,3 and 4 only
(¢) 2and4only
(d 1,2,3and4
KSPC-P-GSPO (31-A)

How many of the above are correctly
matched ?

(a) Only one
(b) Only two
(¢) Only three
(d) All four



74.

75.

76.

KSPC-P-GSPO

YR % Gfeu™ & gay # fafafga seaid @

H-H TE F 2

1. JTrufeemist i wfeat dfeym &
T 9 H & T | |

2. A IyEY gfag™ % T 18 # few Mw
g

3. dfgum & Fed ¥ geftd 39y giaus
& umr 20 ® few mw E

= feu T e FH TIE W IW AT

(a) had 1 3R 2

(b) hHad 2 R 3

() haa 13N 3

@ 1,23WR3

Yd & dfaud & Er fefafed & @
ST HIT TE B 2

(a) m@ﬂamaﬁtaﬁmmq%
e T T for R | Q‘

(b) T TAHA T FAl T

(c) IaWsdE dY ¥ @mﬁqw
oy fowg 2 | k

(32-A)

77. 4 w0 fawm % yg@ % &9 § HE A

fehe wI% (CDS) % Hded HH- & ?
1. <% 376 @6 HAS & TR e

2. oMl Far yuE (Ffdw Hfie) W A= wAH
T FAT HEAT

3. gt fi9t Sanet
e Wt

&y
D

13 2

B() Faw 23 3

(d) whad 131 3

78. vaﬁﬁwmaﬁawéﬁ

T W SH-HYEE % IUW % fag & g
gaTferd AR (JTRIE) T FAT HgT ST 8 2

(a) ATIE Hehed
(b) ATGEE B
(c) SATRIM HEHTEHT

(d) ATRIA Aee



74. Which of the following statements are correct
about the Constitution of India ?

1. Powers of the Municipalities are given
in Part IX A of the Constitution.

2. Emergency provisions are given in
Part XVIII of the Constitution.

3.  Provisions related to the amendment of
the Constitution are given in Part XX of
the Constitution.

Select the answer using the code given below :

(a) 1and2only

(b) 2and 3 only

(¢) 1and3only

(d 1,2and3

75. Which one of the following statements is
correct as per the Constitution of India ?

(a) Inter-State trade and commerce i
State subject under the State Lis

(b) Inter-State migration is a State%
under the State List. » N

(¢) Inter-State quarantine Union
subject under the U& ‘

(d) Corporation tax subject under
the State% .

76. Under 'ch@e following Articles of the
Constit India, has the Supreme Court
of India placed the Right to Privacy ?

(@) Article 15

(b) Article 16

(¢) Article 19

(d) Article 21

KSPC-P-GSPO

77. What are the duties of the Chief of Defence
Staff (CDS) as Head of the Department of
Military Affairs ?

14 Permanent Chairman of Chiefs of Staff

Committee

2. Exercise military command over the
three Service Chiefs

3.  Principal Military T efence
Minister on all matters

Select the corre Rer using the code given

below : @
e

(b)

1 and 2 only
2 and 3 only

(d) 1and3only

78. Operations undertaken by the Army towards
upliftment of the local population in remote
areas to include addressing of their basic

needs is called :

(a) Operation Sankalp

(b) Operation Maitri
(c) Operétion Sadbhavana

(d) Operation Madad

(33-A)



79. fava # fdl @ 3 ¥ wex wwd o o |81 S whE S sHufEm ¥ wew i Pl
frafafga 4 a s nem 2 2 FHeAl W fomm A

1. ¥ 3uey 18 < @wr ¥ g &@h |

2. Ui s97 & o1 98 15 a6 & fou

(b) Tereft 3w et Yadd § @ |

3. saﬁa'ﬂﬁasrrﬁw‘r%%qamf‘mﬁ%

(a) TSI 3R TIYH TsT ATHT

(¢) ¥ R wra

(d) wHaAEEH R W HetvH

80. W% |WT A =W whifq &% day #, f=fafaa (c) 3
HYE T T Y TE B 2 ?‘ 139K 3
L RN VN Yrearer R 2028”3 e Prearie
2. i i o b 6 b
Y GG % a0 1. 98 WRA 3R ey % §e I o4
f3TehTIa o Hehar B | Y o7 |
&“ 2. 39 YRA 3ffg () # go |
3. EEIET . : :
WM& 3. qeare-foqet AREET % gNE €I
gfafskan 39 Ifime =1 ws g o1 |
Hi= fau g F IW FMAT 4. YRR IYEAT 3 AVAE H TH fRE
ot |
- . 3 fu T 2 T R I A
(b) 2 33 (a) 1,233
(b) 1,2 34
(¢) hae1 33 it
@ 1,23W3 @ 2,334

KSPC-P-GSPO (34-A)



79. The longest border between any two countries | 81. Consider the following statements regarding

in the world is between : ‘Nari Shakti Vandan Adhiniyam’ :
15 Provisions will come into effect from the
(a) Canada and the United States of 18t? Lok Sabha.
America 2 This will be in force for 15 years after

becoming an Act.

b) Chile and Argentina
& : 4 3.  There are provisions for the reservation

of seats for Scheduled Castesi Women

il Tna and dnfa within the quota resgmye r the

Scheduled Castes.

(d) Kazakhstan and Russian Federation
Which of the state en above are
correct ?
(a 1,2and

J ; (b): sl
80. Which of the following statements about the
Ethics Committee in the Lok Sabha are (C)ge 2 20g 3 puly
correct ? (d) and 3 only

1. Initially it was an ad-hoc Committee.

ich of the following statements about

& . Only a Member-of the Lek Sabl& ‘Exercise Mitra Shakti-2023’ are correct ?

make a complaint relating to unet g =, = :
P o ey i This was a joint military exercise

conduct of a member of the ha. between India and Bangladesh.
3. This Committee ¢ e up any 2. It commenced in Aundh (Pune).
matter which is s e. 3: Joint response during counter-terrorism

operations was a goal of this operation.

e code given below : 4, Indian Air Force was a part of this

exercise.

Select the answer using the code given below :

(b) 2 and3 only (@ 1,2and3
(b) 1,2and4
(¢) 1and3only
(¢0 1,3and4
(d): 1,2and’3 @ 2 3and4

KSPC-P-GSPO (35-A)



83. ufivy iz I=qw =mae™ T 3= =Rl g

84.

KSPC-P-GSPO

fra 3R fopm waiom @ 9l foeam T/ o oW
29

(a) foret Teprt arforerdt =i, 38 fereft fafime
HaTs F § vy A F fog

(b) GHe/faum i+, mafRy w 1§ Ay
i & & foe

(¢) Trucht @ =, frdt ama § srfard
I W@ 1 afavy w3 F fog

(d) @R &I, 30 frdft smdufres fify =
I B | gfey w6 % g

fFrafefed st w famm Hifs

1. 98 U9 &1 TS99 & S 39 %
HIE P Sl S i
W%W%Sﬁ’iiﬁﬁﬁ@

2. Tt v d

I
b 2

(c) 13ﬂ1'2a'-ﬁ

% &9 H
JAETH TG

HHAT/HHY T B/R 2

@ TA L, T8 2

85. Wy soie (IfEA woie) % wedl #, FefoRaa

86.

87.

(36-A)

FoE 1 foam Hifv

1. gEEEt i 3R A e foa wh due &
gHl WeAl & guy aifve facfa faewor
Ww@d ¢ |

2. e (IFE) T W, 9RA F Ay
sreren ¥ e srErt 1wl T
gehdll |

39 YAl T A AT, %%/% ?
(a) % 1 &

(b) I 2

(¢ 13K :

(d) H dl

¥ ®A “g I 3 (The India
IR “orF yra ded (Why Bharat
atters)” Hﬁiﬁl % AGH & ?
(a) U% ITGd
(b) fer Hea
(¢) W I8

(d) YHEUIH AR
ffofaa gt w faem Hif
2

1. |t

THTER 7 &3 &1 R
qag QU 7 Gehe

2. |geH 2w 1 Tafia @ el
Fdfis sal & 7w Ig

3. |gehi NATO &I 39t e
e

I9ded gl § ¥ fohaq e gafea € 2

(a) had TH I

(b) a3 IH

(c) &4t = Fm

@ g I &




83. A Writ of Prohibition is an order issued by the
Supreme Court or High Courts to :

(a)

a government officer prohibiting him

from taking a particular action.

(b) the Parliament/Legislative Assembly to

pass a law on Prohibition.

85. With reference to Union Budget, consider the

following statements :

1. The Union Finance Minister on behalf of
the Prime Minister lays the Annual
Financial Statement before both the
Houses of Parliament.

2. At the Union level, no demand for a grant
can be made except on the
recommendation of the President, of India.

Which of the statements given is/are
(¢) the lower court prohibiting continuation correct ?
of proceedings in a case. (a) 1lonly
(b) 2only
(d) the Government prohibiting it from (¢) Both1and
following an unconstitutional policy. (d) Neither 1 n
86. Who of t %ﬂ is the author of the books
“The Indie Way” and “Why Bharat Matters” ?
; : (a) ender Yadav
84. Consider the following statements :
(b) alin Mehta
) & It is the Governor of the State who ShashiiFharoar
; #d) Subrahmanyam Jaishankar
recognizes and declares any co
of that State as a Scheduled Tri[:e\ 87. Consider the following pairs :
Country Reason for being in the
2. A community declared as uled news
Tribe in a State ne \ so in 1. |Argentina | Worst economic crisis
another State.
& 2. |Sudan War between the country’s
Which of the $asbiven above is/are regular army and
paramilitary forces
correct ? ;
‘ 3. |Turkey Rescinded its membership
How many of the pairs given above are
(b) 2only correctly matched ?
(a) Only one pair
(¢) Both1land?2 (b)  Only two pairs
(¢) All three pairs
(d) Neither 1 nor 2 (d) None of the pairs
KSPC-P-GSPO (37-A)



88. fm=fefaa suat w fo=mm Hifvie .

89.

KSPC-P-GSPO

DI :

HE RIS 9 I AW 9T BRE H @E
% dd 3R wpfas N dwm (Rmife) % fo
T WHIfae |rf 2 |

PYAII :

gAS URUETEH O HUR I YHed HIR WA

St 7 |

39 Sl & gay °, Fefafas § & SR

TR 2

(@) HY-I R FMII SHI g8 &
HYH-11, HYF-1 Sl AT HLaT 8

(b) FEEI IR w1 A @@ §, g
HYH-11, HYF-1 Fhl ARST 73T w2

(© Y1 FEl 7, Tohg Fem-11 ot 7 2

(d) FHA-1 63 T8 7, Fohg -1 T R

Frafafaa suat w fomm Fifsw

91.

Frafafaa wuat w fa=m $ifse .

PHIYI] :
ea &9 # rferar o faredt gan fufy
Remm 2

FYEII :

A B OH WRA &9 % ks omi H A

A1 /TS §IAT R |

39 HUAE Gy H, o q BH-E

TR ?

(a) HYA-I I qFl |& & aun
HY-1 SRS HLT 2

(b) HeH- HU-11 A1 wd 7, fohg

: Jd%;m@m=@?amﬂ%
(©) a8 R, Tohg wom-11 wEt T8 2
-1 58 & 8, fohg FoA-11 9 R

1. o R # et oft w9 § aga 5 HA W e Hif
BT R |
9. W GFR A A ¥ et H 9w ; PHEL:

2
I HoE # Q@ FE/ERR }@?
(a) *ad 1 (éﬁ;
(b) Fad 2

S

(b) SiaTed $UAT T ITT FH A TE

(c) ITIEhI | dTgati 1 Fsawdur

(@) S fei w1 SwEm wE A
iR

(38-A)

A g% TST SWNH | V9 TG T8l el
21

HYII :
wid d, fafr % ogEn, waw Wit %

AT & form ergafies &9 ¥ w9l @@
(FS) & TTd W ey ® |

39wl & deay °, fafefaa § 4 wh
wE R ?

(a) HIA-I IR HYA-I T TE & q
HYH-I1, HYF-1 1 AT LT 2

(b) HUI I FAAI IF wh §, fRg
HYH-11, HYF-1 hl AT 77T+l 8

(c) Y1 98 7, g om-11 ot 7 8
(d) Y1 98 & 7, fohg P11 T B



88. Consider the following statements :

Statement-I :

Sumed pipeline is a strategic route for
Persian Gulf oil and natural gas shipments to
Europe.

Statement-II :
Sumed pipeline connects the Red Sea with
the Mediterranean Sea.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not
explain Statement-I

(c) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

89. Consider the following statements :

1. The Red Sea receives very li
precipitation in any form.

2 No water enters the Red Sea
rivers.

Which of the statements give
correct ?
(a) 1only §
(b) 2only &

(¢) Both1and 2 %

(d) Neither1 "

tofghef Environmental Protection
which one of the following is
source of sulphur dioxide

is/are

90. Accordi

Agenc
the 1 st

emissions

(a) Locomotives using fossil fuels
(b)  Ships using fossil fuels

(¢c) Extraction of metals from ores

(d) Power plants using fossil fuels

KSPC-P-GSPO

91.

(39-A)

Consider the following statements :

Statement-I :
There is instability and worsening security
situation in the Sahel region.

Statement-I1 :

There have been military takeovers/coups
d’état in several countries of the Sahel region
in the recent past.

Which one of the following is gorrect in

respect of the above statements %

(a) Both Statement-I and engIl are
correct and Stat, -1 plains

Statement-I

@ tatement-II are
> fient-II does not

nsider the following statements :

Statement-I :

India does not import apples from the United
States of America.

Statement-II :

In India, the law prohibits the import of
Genetically Modified food without the
approval of the competent authority.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-I ! '

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I

(¢) Statement-I is correct, but Statement-II is
incorrect

(d) Statement-I is incorrect, but Statement-II
is correct



93. oI AT % IeAy & e #, Frafifag st
T fa=r Hifse :

S SAIeh YT % TG I BIH FH HIS They
foremefia 8, o«

1. 98 fowha 78 drm/a |
2. 3 Sien w1 ISR TE B |
3. 9% H%hcd W YYAA: WA A HI/H FHhaR

T8 g/ |
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Fad 1 31T 2
%ad 2 3R 3
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(a)
(b)
(©
(d)
R gEe % wed #, frefofed wei w
foem Hifse
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94.

2. W% YT g a3 TS | &
+3 fodaes o o +
P B AT 2 |

HESIC R

¥ HH-a1/HH-8 TE B/2 2
(a) 1
1 3R 2
2 3R 3
Fad 3

KSPC-P-GSPO

(b)
(c)
(d)

R % §9g & ued #, Frefefaa ot w

forem HifSr

1. ¥R % Tsgafa g foret wed & wermaam
% fou whiufteg & wmst it sawrwa
TR

2. W H HAEEH HHC:

95.
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Ho-1 TE1 2, Tohg o119t 781 2
FY-1 &l & 2, g FoA-11 T B

)

(c)
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(40-A)



93. With reference to the Speaker of the
Lok Sabha, consider the following statements :
While any resolution for the removal of the
Speaker of the Lok Sabha is under
consideration
1. He/She shall not preside.

2. He/She shall not have the right to speak.

3. He/She shall not be entitled to vote on
the resolution in the first instance.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 1and 2 only

(¢) 2and3only

(d 1,2and3

94. With reference to the Indian Parliament,
consider the following statements :

1. A bill pending in the Lok Sabha laps
on its dissolution.
2. A bill passed by the Lok Sabha an
pending in the Rajya Sabhd 1
the dissolution of the Lok
3. A bill in regard to resident
of India notlﬁe infention to
summon a joint sitting
lapses on 1ssolut10n of the
Lok Sa
Which atements given above is/are
correct ?
(a) 1only
(b)"~1'and 2
(¢) 2and3
(d) 3only
KSPC-P-GSPO

95.

(41-A)

With reference to the Parliament of India,
consider the following statements :

1. Prorogation of a House by the President
of India does not require the advice of
the Council of Ministers.

2. Prorogation of a House is generally done
after the House is adjourned sine die
but there is no bar to the President of
India prorogating the House which is in
session.

3: Dissolution of the Lok Sab
the President of India
exceptional circumst
the advice of the Cou

Which of the statgm N
correct ? : g

(@) 1lonly
(b)
(c)
(d)

isone by
0, @ve in

nsider the following statements :

atement-I :
The European Parliament approved The
Net-Zero Industry Act recently.

Statement-II :

The European Union 1ntends to achieve
carbon neutrality by 2040 and therefore aims
to develop all of its own clean technology by
that time.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I

(¢) Statement-I is correct, but Statement-II is
incorrect

(d) Statement-I is incorrect, but Statement-II
is correct



97. f=fafaa suat w fomm Fifse .
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KSPC-P-GSPO (42-A)



97.

98.
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Consider the following statements :

Statement-I :

Recently, Venezuela has achieved a rapid
recovery from its economic crisis and
succeeded in preventing its people from
fleeing/emigrating to other countries.

Statement-II :
Venezuela has the world’s largest oil reserves.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correctc and Statement-II explains
Statement-I

Both Statement-I and Statement-II are
correct, but Statement-II does not
explain Statement-I

(b)

(¢c) Statement-I is correct, but Statement-II
is incorrect

(d)

Statement-I is incorrect, but Statement-II
is correct

With reference to the Digital Indi a
Records Modernisation Programme, conSide

the following statements :
@ntral
ng.

Maps are

E To implement the schem
Government provides 100

2. Under the Scheme,
digitised.

das

n undertaken to

the Constitution of India.
Which

correct ?
(a)
(b)
(¢) 1and3only
(d 1,2and3

statements given above are

1 and 2 only
2 and 3 only

(43-A)

99.

With reference to the ‘Pradhan Mantri
Surakshit Matritva Abhiyan’, consider the
following statements :

35 This scheme guarantees a minimum
package of antenatal care services to
women in their second and third
trimesters of pregnancy and six months
post-delivery health care service in any
government health facility.

2. Under this scheme, priva sector
health care provide certain
specialities can vol ergto provide
services at nearby ‘gove ent health

facilities.

Which of the st iven abo'\'re is/are
correct ? :

(@ 1 only@
b 2 @n
(c t d2

either 1 nor 2

(d)

ith reference to the Pradhan Mantri Shram

Yogi Maan-dhan (PM-SYM) Yojana, consider

the following statements :

1 The entry age group for enrolment in
the scheme is 21 to 40 years.

2.  Age specific contribution shall be made
by the beneficiary.

3. Each subscriber under the scheme shall
receive a minimum pension of ¥ 3,000
per month after attaining the age of
60 years.

4, Family pension is applicable to the
spouse and unmarried daughters.

Which of the statements given above is/are
correct ?

(a 1,3and4
(b) 2and 3 only
(¢) 2only

(d 1,2and4
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